Atoms and Radiation
The centre of the atom is called the ________

The particles present in the nucleus are ________ and __________.

Radiation is the result of changes in the __________ of certain i________ .
Alpha Decay
A nucleus containing large numbers of protons and neutrons can decay producing an 
______  particle


Alpha particles consist of two _____ and two _______. joined together.

An alpha particle has a ___ ___ charge.  It will grab electrons from its surroundings 
quickly to become a neutral ________ atom.
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So an ________ particle is just the _________ of a helium atom.

When an atom decays by emitting an alpha particle a nucleus with a different number 
of p________ has been made. This means that a new _________ has been formed.

Beta Decay

Beta radiation consists of high-energy _____________ emitted from the

nuclei of atoms.

When beta decay occurs a neutron in the nucleus of the atom becomes a ________
spitting out a high energy _________ in the process.

[image: image3.bmp]
Gamma Rays

Gamma rays are very short electromagnetic waves like light but very much shorter. They come from the nucleus of certain atoms
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Half Life and Radiocarbon Dating

The time it takes  for half a radioactive material to decay is called its _____ _____.

[image: image7.wmf]The half Life of carbon 14 is _______ years

Because we know how long it takes to decay we can date objects.
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A tree always has the same amount of radioactive ________ 14 in  it during life. 
As soon as it dies the carbon 14 ________ radioactively.

By measuring how much is left in an old log we can tell how ______ it is.

Below is the decay graph of carbon 14.  We just measure the amount of carbon 14 in 

the sample and read off the ____ from the graph.

Uranium 238  has a much longer ________ ______  and can be used to date _______ and 

even find the age of the _________.
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